



$$A(P) = \frac{P^{3}}{4} + 2P + \frac{4}{P} \qquad A(P) = \frac{3}{4}P^{2} + 2 - \frac{4}{P^{2}}$$

$$A'(P) = \frac{6}{4}P + \frac{8}{P^{3}}$$

$$A'(P) = 0 \qquad A'(P) \text{ unde fined where Max } \in \mathbb{N}$$

$$\frac{3}{4}P^{2} + 2 - \frac{4}{P^{2}} = 0 \qquad \text{ot } P = 0$$

$$P^{2} = \frac{-8 \pm \sqrt{64 - 4(3)(-16)}}{3(3)} = \frac{-8 \pm \sqrt{356}}{6} = \frac{-8 \pm 16}{6}$$

$$P^{2} = \frac{-8 \pm 16}{6} \qquad P^{2} = \frac{8 \pm \sqrt{356}}{6} = \frac{-8 \pm 16}{6}$$

$$P^{2} = \frac{8}{6} = \frac{4}{3} \qquad A''(\frac{2}{\sqrt{3}}) = \frac{6}{4}(\frac{2}{\sqrt{3}}) + \frac{8}{(\frac{2}{\sqrt{3}})^{3}} = +$$

$$P = \frac{2}{\sqrt{3}} \qquad \text{when } A''(P) > 0$$

$$A(\frac{2}{\sqrt{3}}) = \frac{(\frac{2}{\sqrt{3}})^{3}}{4} + 2(\frac{2}{\sqrt{3}}) + \frac{4}{3\sqrt{3}} \qquad \text{Min. Value}$$

$$= \frac{32\sqrt{3}}{9} \qquad \text{Smallest Possible}$$









